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In the following sentence, four words are given in bold 

out of which one word is misspelled. Find the misspelled 

word.



In her lengthy(A) herangue(B), the principal(C) 

berated(D) the offenders(E).

1. A

2. D

3. B

4. E

5. C



The defeated(A) people could not satisfy the 

cupidity(B) of the conqurors(C), who demanded 

excessive(D) tribute.

1. B

2. C

3. A

4. D

5. No Error



To the Ayatolla, America and the West were 

enathema(A); he loathed(B) the democratic(C) 

nations, cursing(D) them in his dying words.

1. A

2. C

3. B

4. D

5. No Error



Choose the correctly spelt word.

1. Receding

2. Receeding

3. Reeceding

4. Recedeing

5. Recceding



Choose the correctly spelt word.

1. Interegnum

2. Intrenum

3. Interregnum

4. Interregnim

5. Intterregnum



Find out which part of the sentence has an error and 

select the appropriate option. If a sentence is free from 

error, select 'No Error'.



I love to learn (A)/ mathematic as I have (B)/ always 

been good (C)/  with numbers.(D)/ no error 

1. A

2. B

3. C

4. D

5. No error 



Ram is taller, smarter, and wiser (A)/ than me in the (B)/ 

whole class and (C)/ is also kind-hearted. (D)/ No error. (E)/

1. A

2. B

3. C

4. D

5. No error 



Every actor and (A)/ every singer will do (B)/ their bit to 

support (C)/ the artist forum. (D) no error 

1. A

2. B

3. C

4. D

5. No error 



Davy took a year /(A) out to see the world /(B) and 

broad his /(C) experience of life. /(D) No error /(E)

1. A

2. B

3. C

4. D

5. No error 



Your application is /(A) bound to failing if /(B) you don't get 

the /(C) divisional director's approval./(D) No error /(E)

1. A

2. B

3. C

4. D

5. No error 



The following question has two blanks, each blank 

indicating that something has been omitted. Choose the 

set of words for each blank that best fits in the context of 

the sentence.



The central government’s recent move to ________ the 

production linked incentives scheme to the automobile 

sector including for manufacturing of Advanced 

Chemistry Cells is an ________ move.

1. extend, encouraging

2. disrupt, preventive

3. exploit, intensifying

4. extensive, appropriate

5. expect, glorified



Mental fitness is intended to build ________ against 

every-day mental health challenges to ________ an 

escalation of anxiety, depression and help them cope 

with the escalation of those feelings if they occur.

1. resilient, diversion

2. effective, assisting

3. efficient, descend

4. resilience, prevent

5. prevention, escalate



The general role of commercial banks is to provide 

financial ________ to the general public and business, 

ensuring economic and social ________ and sustainable 

growth of the economy.

1. kindness, searching

2. suggestions, activity

3. services, stability

4. repair , opportunity

5. renovation, scope 



Indian National Trust for Art and Cultural Heritage 

(Intach) has expressed ________ that the plans for 

‘Smart Cities’ will cause increased construction and 

________ of existing wildernesses.

1. concern, destruction

2. pertinent, facilitates

3. annoyance, developing

4. appeal, rejuvenates

5. gratitude, distraction



The talks between the government and 41 protesting 

farm unions have ________ inconclusive even after 11 

rounds of ________ .

1. pretended, rationale

2. remained, discussions

3. forwarded, uncontroversial

4. thanked, empathetic

5. requested, conclude



A sentence/a part of the sentence is underlined. Five 

alternatives are given to the underlined part which will 

improve the meaning of the sentence. Choose the correct 

alternative. In case no improvement is needed, click the 

option corresponding to "No improvement."



She asked me that whether I had posted the letter.

1. Whether I had posted the letter

2. Where did I post the letter?

3. That I posted the letter

4. Whether she had posted the letter

5. No improvement



Five years have passed since she started studying 

English.

1. Has happened from

2. Have been happening from

3. Happened since

4. Were happening since

5. No improvement



She walks gracefully.

1. Does not walk with grace

2. Gracefully walks

3. Walking without grace

4. Walking with grace

5. No improvement



Below are given some sentences out of which the 

sentence numbered 4 has been correctly placed. The rest 

of the sentences A,B,C,D,E,F need to be arranged 

correctly in order to form a logical order.



A. Dry compasses began appearing around 1300 in Medieval Europe and the 

Medieval Islamic world.

B. The compass was later used for navigation during the Chinese Song Dynasty 

(960–1279 AD), as described by Shen Kuo. 

C. Magnetized needles and compasses were first described in medieval Europe by 

the English theologian Alexander Neckam (1157–1217 AD).

D. Later compasses were made of iron needles, magnetized by striking them with a 

lodestone.

E. The first compasses were made of lodestone, a naturally magnetized stone of iron, 

in Han dynasty China (202 BC – 220 AD).

F. This was replaced in the early 20th century by the liquid-filled magnetic compass.

G. The compass was invented more than 2,000 years ago.
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